MINIATURE CYLINDER




< iANTO

TRIES

- 0

X R R EL

EEER

ACR7

— | BBEE

MINIATURE CYLINDER

EEh

Rzt

(¥~ 30)

ERil] =R EE B
. . - eEEE
s ———= ——. | |zass
= —
g el #1) R
AFZR5
HREE — BRES ‘ o
—— | | } il {
= B v
e - (EREE N 9 10 ©
E 2 E 1SO6432 e } B j 8 <E ® Q Q
| REEE " <
—===n | (masE || =
e al =
- epEE = L SRR




<< sANTO

- X RR A
MINIATURE CYLINDER

CIEMERUIRAE EREERRRE
- -~ S -
%51 AC %5 | ACH
FENEYTY EE)EER / BB TEENEYT EHEH / EFEH
A @20 | @25 | @32 | @40 A @20 | @25 | @32 | @40
5D =R Rk JHERVEEN
it B2 1 1.5MPa(15.3kgf/cm?) i /8% 77 1.5MPa(15.3kgf/cm?2)
B AERET 1.0MPa(10.2 kgf/cm?) EAFEREN 1.0MPa(10.2 kgf/cm?)
o | 0.05MPa(0.51 kgflcm?) /)M BB 0.18MPa( 1.8 kgficm?)
BMERET gy 0.08MPa(0.82 kgficm? =g ~
3 . .82 kgffcm?) FERERE 15 ~ 300 mm/s
N BRBEE 50 ~ 750 mm/s ERRE 5°C ~60°C
R EREE 50 ~ 1000 mm/s EE BB EEIZERRE)
ERRE AR - -10°C ~ 60°C(REILE kAR ER) TEAZE o
EE BBEE/ ERES * SN RFLIAC R BiZ .
%M RE (EHLH)
BB ENAE J(kgflom) 0.27(2.8)\0.4(4.1) 0.65(6.6)[1.2(12.2) (EEghE=%E"
e 4 e - (kg)
ﬂ@(mm)
Hﬁﬂ?‘i’:ﬂ
@) RESE TR
@20 | @25 | @32 | @40 TRRE
014 | 021 | 028 | 0.56 FTR50ENES
029 | 037 | 044 | 083
020 | 030 | 037 | 068 TiEETREE
012 | 019 | 027 | 052 e -
018 | 025 | 032 | 065 FEAETAZ (mm)
0.19 0.27 0.33 0.69 75 [100[125[150[200(250(300| (mm)
0.18 0.28 0.34 0.66 W O O 0 000 ool 50
0.13 0.19 0.26 0.53 Wil Q  Q Q1 Q0 0 Q09099 500
0.19 0.28 0.35 0.65 o032 IR I I I I I R R
0.17 0.26 0.32 0.63 g40 PRI I I I I I ) 800
BTES0EMES 0.04 0.06 0.08 0.13 * ETEEREAS.




AC %5

“EEmm

EERRAIRISEETT

%35 | ACQ

YEBNEIS 8 E on
A @20 | @25 | @32 @40 — %
fEAEE =5 T e L —

it 2 ) 1.05MPa(10.7kgflcm?) 5 /////’
RAFEREN 0.7MPa(7.1 kgflcm?) = i
2/ \VEEEH 0.025MPa(0.25 kgficm?) 5 29— |
ERRE PR - 10°C ~ 60°C(REIEKIREE) g 1
BERE 0.5 L/min(ANR)L T 001~

EE BB EE

#m AFE (FieH)

KEEHE B—Hm 0 01 02 03 04 05 06 07
TRAE e fEFAE S (MPa)

* SMEIRSFUACE S BIRE

R

1. RElRI#ENBIER B
R BPRE(E - HEELR
R—TEE - BiENEERE

2. BB RIAIIMERE(E
FRE) REmpOHENEEINEE

I\ o

FRE -

. WEE

BT Rl EE

EE R

B2 B

EZ kYN

REREREEERE

Tas—— -

AR ERBUFRARZZEA

RIENNEBH(NE EB R IAEEHR) -

ENZRAHRIARENZHYASREERBR -

EERERIES  GERHHZES  BRIER -

REAE - KBBEZAERET - BRAVEEINNERZRILER -

EERBATEYMES ZEERN  VWREEBELENREANZME - TEEBREBHIBALEX -
BERFSHOZREREFAERZTS  SERAARZEHZEFRABRNMERBBHBALZAX -

CO000OOC



N EMmEE
MINIATURE CYLINDER

| RRBEE

AC M w 20 x 100 TG-C73 2
| \ \ \ | \ | \
x5 ||k & =i & |17 72 EER XIEISIELR @Ejﬁ
‘ , ‘ ‘ \ _ Jw \ HE
- @20| [25~300| [ [F*® TSET |
& ; 25 ze ﬁ,ﬁj 1] 1@
e E&%ﬁa 2 = 2| oM@
c| =R @32 _ -
=E WZRE TTERE -
e _— @340 ) W ul s TG-H7A1
o \ - tﬁ.
Q TE@% o FTZAAE V V: i} ==t
E “@., A5t 1§Tij%_§ FELNPNE
F ‘;‘ T TG-H7A2
LL N |ll £
SR
EE BRER SDBRBE o
s G| S ) FERPNPT
Pl == -{JB I > | [emmEEE
B YRR
EEE c ﬁ v ¢ - .
Y EEUJ#U S XEEMIAAIE A 20914 07.01-
LL =Wz R
o 49 | o




AC 27

CHNBIRSTR

EAER ACT

O BBEHEE
#ig2 H2 G 2Rc(PT)P

g1 __H1 G _ 2NN
P [H——t — ©
a ) } } B ‘ i
S ) S
O ~
MM / A1 15 15
A K F N N
H S+{7#8 F
72Z+1712
y—/ixv] - |
) :DE;: ?575 5] E:J
WA WA EER WB

N1 N1

o EBFEACOP

T ) I
n I Hl [
—

ZZ+ 1772

K
@20|20| — (13|26 8 |20(13| 7 (41| 5 | 8 | 28 | 6 | M8X1.25 |13.5| 24 |M20X1.5|1/8” 62 | 116 | 103
@25|22| — |17|32/10|/26 13| 8 |45| 6 | 8 |33.5| 6 |M10X1.25/14.5| 30 |M26X1.5|1/8” 62| 120 | 107
@3222| 21 (1732|1226 |13| 7 (45| 6 | 8 |37.5| 6 |M10X1.25/13.5|34.5/M26X1.5(1/8” 64 | 122 | 109
40|24 | 22 |22 |41/16|32 16|11 /50| 8 | 10 |46.5| 6 | M14X1.5 |21.5|42.5/M32X2.0|1/4” 88 | 154 | 138

EREEHT

514 | N1 | WA | wB
@20 | 13.5|10.2| 8
@25 | 14.5 | 10.5[10.25
@32 135 85 |11.8
@40 [21.5| 13 [16.4




L RS
MINIATURE CYLINDER

BERtE

#HRE ACIE
O BBEEI+SDBRE

LZ+ 1718
2Z+ 1712
Z+17712 LP
H S+172 L _|RR
A K, _F N N u
Al G, G oNA
MM H1 1.5 ‘ 2-Rc(PT) P @CDH10
N O i ’T{g [
e ] | 1Sk
: o)
/ 2-9LD ‘ | \ 5
#1281 NN
;%:IIE T
. ‘ Ll e |
' LY
Q EE%".%'TEE;FU * SDBREREER-
WA WA EER WB
] ]
T [T . ¥
=] 19 @
N1 N1

@20 20| - 13|20 8 |12 |8 |20 13 |7 |41 | 5 | 28

K

6 | 12 | M8X1.25 | 13.5 | M20X1.5
02522 - |17|26| 8 |12 |10/26|13 8 |45 | 6 335 6 | 12 |M10X1.25| 14.5 | M26X1.5
@32122| 21 |17 /1261020 (12|26 |13 | 7 |45 | 6 |375] 6 | 15 |M10X1.25| 13.5 | M26X1.5
@40 |24 | 22 |22 |32/10/20 (16|32 16 (11 |50 | 8 465 6 | 15 | M14X1.5 | 21.5 | M32X2.0

f%|NA|P|RR| S | U | Z |2z
@20 | 24 (1/8’) 9 | 62 |11.5 | 115 | 124
@25|30(1/8") 9 | 62 115|119 | 128
@32 |34.5/1/8" 12| 64 |145| 124 | 136
@40 42.5/1/4" 12| 88 |14.5| 153 | 165

EREHE
LG [LH|LP | LT |LV | LY |LZ & | N1 | WA | wB
@20|6.8| 15 | 30 | 30 | 37 | 3.2[18.4| 59 152 @20 135 10.2| 8
@25]6.8| 15 | 30 | 30 | 37 | 3.2[18.4] 59 |156 @25 | 14.5 | 10.5[10.25
@32 9 | 15|40 |40 |50 | 4 |28 | 75 174 @32 135 85 | 11.8
@40 9 [ 15 40 |40 | 50 | 4 |28 | 75 203 @40 | 21.5| 13 [16.4




AC %75

R~
FIZEEY(L)

o BBEHE

A K F |G #iEB2

#3881 2-RC(PT) P

MM

@D

LH

S+T12

LS+1712 ‘ Lz ‘

ZZ+1718

R A | A1 I K

@20/20| - |[40[13|26| 8 (13| 7 |41 |5 |8 | 28 | 6|6.8|25|102|3.2 |40 55| M8X1.25 |13.5

@25|22| — |47|17/32 /10 13| 8 |45 |6 |8 |335| 6 6.8 28|102|3.2|40 55| M10X1.25|14.5

@32|22| 21 [47[17|32/12/13| 7 |45 |6 |8 |375|6 6.8 |28|104|3.2|40|55 | M10X1.25 |13.5

@40 |24 | 22 |54 |22 /41 /16 16|11 |50 | 8 |10 |465 |6 7 |30|134|3.2|55 75| M14X1.5 |21.5
EREED

T NN P | x|V Z|22

@20 | M20X1.5[1/8” | 62| 20 | 8 | 21 [131 @20 | 135|102 | 8

@25 | M26X1.5[1/8” | 62| 20 | 8 | 25 [135 @25 | 14.5 [ 10.5 [10.25

@32 |M26X1.5|1/8” | 64| 20 | 8 | 25 |137 @32 135 85 | 11.8

@40 | M32X2.0| 1/4” | 88 | 23 (10| 27 [171 @40 |215| 13 | 164




N EMRRE
MINIATURE CYLINDER

BERYE

AU ZZ 52 1R(F)
OgBEE L

Hi2B2 H2 G 2-Rc(PT) P G 2-NN
#{1£B1 H1 "‘ / /
—t

DEh8
%]

) S+ F
7Z+1772

2Z+1718

s (@)
\/

N

N1

K

@20/ 20| - |34 |13|26|/30| 8 (2013 |7 |4 |60|—-|75|/7/41| 5 | 8 28 | 6 | M8X1.25 | 13.5
@25/22| - 4017|3237 |10|26 |13 |7 |4 |60|—-|75/8|45| 6 | 8 |33.5|6 |M10X1.25|14.5
@3222| 21 (4017|3237 (12|26 |13 |7 |4 |[60|—-|75|7 /45| 6 | 8 |37.5|6 | M10X1.25|13.5
@40 24| 22 |52 122|411473|/16|32 |16 |7 | 5 | 66|36|82|11/50| 8 | 10 |46.5|6 | M14X1.5 | 21.5

TEREHE

@20 | 13.5|10.2| 8
@20 | M20X1.5(1/8" |62 | 37| 116 | 103 @25 1 14.5 | 10.5 10.25
@25 |M26X1.5(1/8" |62 |41| 120 | 107 @32 113.5| 85 | 11.8
@32 | M26X1.5|1/8” | 64 | 41| 122 | 109 @40 |215| 13 |164
@40 | M32X2.0(1/4” | 88 | 45| 154 | 138

'3 03.09




AC 375

THNEIRSTR
BLZEWR(G)

ogBEE L

#1281 H1 2-NN G, 2Rc(PT)P

\ L/

al

a
Q |

MM / A1 1.5

H S+ FT © 920 ~ @32

DEh8

EEH

R A | A1

K
@20]20| - |34[13[26[30|8 (2013 |7 |4 60|75 7 415 | 8 | 28 |6 M8X1.25 135
@2522| - 40[17/32[37[10/26 |13 |7 |4 |60| - |75 8|45 6 | 8 | 335 6 M10X1.25 14.5
@32]22| 21 [40[17[32[37[12]26 13 |7 |4 |60| |75/ 7|45 6 | 8 | 37.5| 6 M10X1.25| 135
@40 24| 22 |52 22 41]47.3[16/32 16 | 7 | 5 66/36/82/11/50 | 8 | 10 | 46.5| 6 | M14X1.5 | 21.5
EREER
| NN [P |s| z | zz 14 | N1 | WA | wB
@20 | M20X1.5|1/8” | 62| 107 | 116 @20 135102 8
@25 | M26X1.51/8" | 62| 111 | 120 @25 | 14.5 | 105 10.25
@32 | M26X1.51/8" | 64 | 113 | 122 @32 135 85 | 11.8
@40 | M32X2.0 1/4” | 88 | 143 | 154 @40 (215 13 164




